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General Instructions :

Read the following instructions very carefully and strictly follow them :
(1) This question paper consists of 13 questions.

(i)  All questions are compulsory.

(itt) The question paper has three sections — Section A, B and C.
(iv) Section A has 6 questions of 2 marks each.

(v) Section B has 6 questions of 3 marks each.

(vt) Section C has a case-based question of 5§ marks.

(vit) There is no overall choice in the question paper. However, internal choices
have been provided in some questions. Attempt only one of the alternatives
in such questions.

(vitt) Wherever necessary, neat, proportional and properly labelled diagrams
should be drawn.

SECTION A

1. Write the name of the bioactive molecules produced by the microbes

listed below, and their role in the field of medical sciences. 2

(a) Monascus purpureus

(b)  Trichoderma polysporum

2 A major cause of death among infants is because of Acute Respiratory
Infection (ARI) of the lower respiratory tract, which further affects the
alveoli. Name the associated disease, a causative bacteria and give any

two symptoms of the disease. 2

3. Explain any two responses of animals i1f the stressful external conditions

are localised or remain only for a short duration and the organism cannot

move away from the stresstul habitat. 2
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4. (a) The given graph shows diagrammatic representation of organismic
response to abiotic factors :
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(1) Which of the two lines, (A) or (B), depicts the relationship of
organismic response to temperature in cat and lizard
respectively ?

(11) Explain how animal (A) is different from animal (B). 2

OR

(b) Given below an equation describing the growth pattern of a
population :

dN/dt = rN

(1) Mention the type of growth model or growth pattern of
population described by the given equation.

(11)  What does r’ in the equation signify ?

(111) Mention the type of growth curve that will be obtained 1if the
population density (N) 1s plotted against time (t).

(1v)  According to you, will the resource availability be limited or
unlimited for this type of growth in a given population ? 2

5. (a) In our country NACO and other Non-Government Organisations
(NGOs) are doing a lot to educate people about AIDS. Expand
‘NACQO’. Enlist any three ways by which transmission of HIV-AIDS

infection occurs. 2
OR
(b)  Write the scientific name of the plant and its part from which
oplolds are extracted. How does 1t atfect our body functions ? 2
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6. Study the given diagrams of Sewage Treatment Plants (STP) and answer

the questions that follow :
Sewage Treatment Plant (A)

River

x Sequential filtration Biological treatment ——

| Anaerobic
Aeration tank sludge
(X) digesters

Sewage Treatment Plant (B)

\ River
- Biological treatment Sequential filtration g

| Anaerobic
Aeration tank sludge
digesters

(a)  Which of the two Sewage Treatment Plants, (A) or (B), will be more

effective in treating human excreta in the municipal waste ?

(b) How 1s the primary effluent treated in the aeration tanks till there

1s significant reduction in the BOD of the effluent ? 2
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SECTION B

7. (a) How are primary and secondary immune responses carried out by

B-lymphocytes and T-lymphocytes respectively in our body ?

(b)  Enlist two differences between primary response and secondary

response produced by our body 1n response to a pathogen. J
8. How have the following factors affected the biodiversity of an area ?
Explain. 3

(a) Habitat loss and fragmentation

(b)  Over-exploitation
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0. (a)  One of the potential uses of genetic engineering is in correction of a
gene defect that has been diagnosed 1n a child/embryo. Explain
how gene therapy is of help in ADA deficiency. 3

OR

(b) A schematic diagram of matured human insulin 1s given below :

A peptide
K/—%_/%\,/
: S
%
B polypeptide

How 1s the process of its formation naturally in the human body

different from that of its formation by rDNA technology ? Explain. o

10. How has the use of Bacillus thuringiensis by biotechnologists helped in
protecting cotton plants against the attack of cotton bollworm, thus

increasing the cotton yield ? Explain. 3

11. Name any two techniques which can be wused to generate a

three-dimensional 1mage to detect cancers of the internal organs and

explain any one of the techniques. 3
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12. Study the pie chart given below, representing the global diversity :
proportionate number of species of major taxa and answer the following

questions based on it.

Invertebrates

Other animal groups

Crustaceans
. \

CX?

(a) Identify X’ and Y’ in the given pie chart.

(b)  Which one of the two, X’ or °Y’, 1s the most species-rich taxonomic

group and by what percentage ? 3
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SECTION C

13. (a) Restriction endonucleases are a class of bacterial enzymes that
recognize a specific short sequence of nucleotides within a
double-stranded DNA molecule. The natural purpose of these
enzymes 1S to protect bacteria from pathogens, mnotably
bacteriophages. There are different classes of restriction enzymes,
but type-ll restriction enzymes are widely used in manipulating
DNA as they recognize short sequence nucleotides that are

typically palindromes.

(1) Name a specific restriction endonuclease and write the
palindromic nucleotide sequence in the DNA recognised by
this enzyme. Also, indicate the site at which it makes the

cut.

(11) A piece of DNA 1s cut by a restriction enzyme. The
fragments are then separated by gel electrophoresis and

stained by ethidium bromide. Write the principle on which

ogel electrophoresis works. 5
OR
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(b)
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RNA 1interference (RNA1) holds great potential as a therapeutic
agent for the treatment of human diseases and as a bicontrol agent
for controlling pests in the field of agriculture.

The graph given below 1illustrates the use of ‘RNA1 for the
potential treatment of disorders of cholesterol metabolism. Some
people possess genetic mutations with elevated levels of ‘ApoB’

gene which predisposes them to coronary artery diseases.

Lowering the amount of ‘ApoB’ can reduce the number of

lipoproteins and lower the blood cholesterol.

Tracy Zimmerman and her colleagues used RNA1 in 2006 to reduce
the level of ‘ApoB’ in non-human primates Cynomolgus monkeys.
One group of monkeys were given RNA1 treatment (Small
interfering RNAs, SiRNAs) (doses 1 mg/kg SiRNAs), a second
group of monkeys were given RNA1 treatment (doses 2:5 mg/kg
S1iRNAs) and a third group of monkeys were injected with saline as
control.

The results-of the experiments are illustrated in the graph given

below :

120

XA
!
o,
oS

XN
XA
< IAM
o

<>
.'#"J'.

Eﬁ"{ ;
e

e,
e
AR
Al
< 18Y
% $tl
il
VAV ' .
XA
e’ 1L

2
/|
V.
e
.9
wu |
V.9
%
"9
%
V.9
o,
e
R
V.9
i

/N
20 g

?“‘. |

oo iy

\\

0 L !

904 48 144 264
Time (hours) ——>

] Saline X 1 mg/kg Y B 25 mg/kg 7

QD
O

(% per dose) ——>
o0
S

N
-

Relative serum cholesterol

17 okl F. 1.0,

.E =0

collegedunia:

India’s largest Student Review Platform



(1) I o T 997 2-5 mg/kg SiRNAs & 264 €U deh QU 1T
3UER hl HAY: TS UTH H X 91 2’ & ¢RI efud femam T 2,
g 24 TUZI & IYAR <hl ol U HeAS adl 2-5 mg/kg SiRNAs
% TohU MU IUAR ° ITed UNUMHT o SATUR I YT AHETOT
(STAHYRor) faRaT |

(i) SARTAN. AdE&Y g MiHd demeh o 9IRS 9Y bl qSid

HATSSITTEH F-hIT=19/T o Tfd Lt SHIET AT | AR o HehHUI
H Tk h1 GRSIHT G 79T Y& 8 o IR ? 4&Y § ST

ShITTT | 5]
B
57/6/3 18 kg
— =]

E=
&collegedunlaz
India’s largest Student Review Platform

T—



(1) Write your interpretation from the bars X’ and ‘Z’ obtained
after 264 hours of treatment of monkeys with saline and
2:5 mg/kg S1IRNAs treatment respectively, in comparison to

the bars obtained after 24 hours of treatment with saline

and 2-5 mg/kg S1IRNAs.

(11) A tobacco plant made transgenic using RNA interference 1s
protected from the parasite Meloidogyne incognitia. How 1s

the transgenic tobacco plant able to prevent itself from

infestation by the nematode ? Explain briefly. 51
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